Part VI: Grade 8

Formula Chart

Test Blueprint

Test Content

Sample Items

Vocabulary List

EDITOR’S NOTE: Some scored student work may contain labeling elements used
when the items were pilot tested. These labeling elements are separate and distinct
from and are not a part of the test items themselves.
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CMT Formula Chart

Circumference circle C=2nr
pi=n Use3.14 OR %
Area triangle A= % bh circle A=rrd
[ ]
b
Volume cylinder V=mnrh
h
Pythagorean Thearem right triangle a’+ b¥=¢? L c
a
b
Measurement Conversion
Customary Length I mile = 5,280 feet
Customary Volume 1 gallon = 4 quarts

1 quart = Z pints
| pint = 2 cups
1 cup = 8 ounces

Customary Weight ' 1 ton = 2,000 pounds
1 pound = 16 ounces

Time 1 vear = 365 days
1 year = 52 weeks
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Connecticut Mastery Test — Fourth Generation

Mathematics Grade 8 Test Blueprint

# of multiple- | # of open- # of grid-in

Content Standards and Strands choice items | ended items | items
Numerical and Proportional Reasoning
1. Place Value 4
2. Pictorial Representations of Numbers NT NT NT
3. Equivalent Fractions, Decimals and Percents 4 2
4. Order, Magnitude and Rounding of Numbers 4 2
5. Models for Operations 2 2
6. Basic Facts NT NT NT
7. Computation with Whole Numbers and Decimals 6
8. Computation with Fractions and Integers 6
9. Solve Word Problems 2 2 2
10. Numerical Estimation Strategies NT NT NT
11. Estimating Solutions to Problems 4
12. Ratios and Proportions 4 2
13. Computation with Percents 6
Geometry and Measurement
14. Time NT NT NT
15. Approximating Measures 6
16. Customary and Metric Measures 2 2 2
17. Geometric Shapes and Properties 4 2
18. Spatial Relationships 7 4
Working with Data: Probability and Statistics
19. Tables, Graphs and Charts 2 2
20. Statistics and Data Analysis 4 1 2
21. Probability 2 2
24. Classification and Logical Reasoning 2 2
Algebraic Reasoning: Patterns and Functions
22. Patterns 2 2
23. Algebraic Concepts 4 3 2
Integrated Understandings
25. Mathematical Applications 2

61 36 20

TOTAL

* NT = Strand not tested at this grade level
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Connecticut Mastery Test — Fourth Generation
Mathematics Grade 8 Content

Strand

Grade 8 Concepts/Skills Assessed

Place Value

A. Identify alternative forms of expressing numbers using scientific notation.

2. Pictorial Not tested
Representation of
Numbers
3. Equivalent A. Rename fractions and mixed numbers as equivalent decimals and vice versa.
gZif:l(;?:;n d B. Rename fractions and decimals as equivalent percents and vice versa.
Percents C. Identify and/or shade decimals, fractions or percents of regions or sets.
4. Order,Magnitude | A Qrder fractions and decimals including mixed numbers in context.
;'::nl;?r’:dmg °f | B. Describe magnitude or order of mixed numbers, fractions and decimals in context.
C. Round mixed numbers, fractions and decimals in context.
D. Locate points on number lines and scales, including fractions, mixed numbers, decimals
and integers.
5. Models for A. Identify the appropriate operation or equation to solve a story problem.
Operations B. Write a story problem from an equation.
6. Basic Facts Not tested
7. S;l:“{’“tation with | A Add and subtract 3-, 4- and 5-digit whole numbers, money amounts and decimals.
an doDe eg:’ﬂ‘:ﬁers B. Multiply 2- and 3-digit whole numbers, money amounts and decimals by 1- or 2-digit
numbers and decimals. Divide 2- and 3- digit whole numbers, money amounts and
decimals by 1-digit whole numbers and decimals.
C. Multiply and divide whole numbers and decimals by 10, 100, 1,000, 0.1 and 0.01.
8. Computation with | A Add and subtract fractions and mixed numbers with reasonable and appropriate
IFI::L“:;:S and denominators.
’ B. Multiply whole numbers and fractions by fractions and mixed numbers.
C. Add or multiply positive and negative integers.
9. Solve Word A. Solve multistep problems involving fractions, mixed numbers, decimals and money
Problems amounts with or without extraneous information.
B. Solve multistep problems involving whole numbers, mixed numbers, money amounts
and decimals.
C. Solve multistep problems involving whole numbers, fractions, mixed numbers, decimals
or money amounts, and explain how the solution was determined.
10. Numerical Not tested
Estimation
Strategies
11. Estimating A. Determine a reasonable estimate, and describe the strategy used to arrive at the estimate.
IS,(;::::I':;SS to B. Given an estimate as a solution for problems involving whole numbers, mixed numbers,
decimals and percents, judge its reasonableness and justify the decision.
12. Ratios and A. Solve problems involving ratios.
Proportions B. Solve problems involving proportions in context.
C. Solve multistep problems involving ratio or proportion, and explain how the solution was
determined.
13. Computation with | A Find percents of whole numbers or the percent a given number is of another number.
Percents B. Solve problems involving percents in context.
14. Time Not tested
1S. Approximating A. Estimate lengths, areas, volumes and angle measures.
Measures
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Strand Grade 8 Concepts/Skills Assessed
16. Customary and A. Measure and determine perimeters, areas and volumes. Explain or show how the solution
Metric Measures was determined.
B. Determine perimeters, areas and volumes.
C. Solve problems involving conversions and/or operations within customary or metric units
of measure.
17. Geometric Shapes | A Tdentify, describe and classify 2- and 3-dimensional geometric shapes and figures.
and Properties B. Draw, describe and classify 2- and 3-dimensional geometric shapes and figures.
18. Spatial A. Identify congruent and similar figures.
Relationships B. Draw, classify, describe and/ or explain why figures are similar.
C. Locate and draw points on four-quadrant coordinate grids.
D. Identify geometric transformations (reflections, rotations and translations).
E. Draw geometric transformations (reflections, rotations and translations).
F. Relate 2- and 3-dimensional representations and vice versa.
19. Tables, Graphs A. Identify correct information from tables, graphs and charts.
and Charts B. Create graphs from data in tables and charts.
20. Statistics and Data | A Draw reasonable conclusions from data in tables, graphs and charts.
Analysis B. State a conclusion and explain why an answer is or is not reasonable based on the data.
C. Solve problems involving means, medians, modes and ranges of sets of data.
21. Probability A. Identify correct solutions to problems involving elementary notions of probability and
fairness expressed as fractions, decimals or percents.
B. Solve problems involving elementary notions of probability and fairness expressed as
fractions, decimals or percents and justify solutions.
C. Solve problems involving expected outcomes or predictions and justify solutions.
22. Patterns A. Identify the missing terms in a pattern, or identify rules for a given pattern using numbers
and attributes.
B. Extend or complete patterns and state rules for given patterns using numbers and
attributes.
23. Algebraic Concepts | A Solve simple equations, including 2-step equations.
B. Solve multistep problems using algebraic concepts.
C. Evaluate expressions or solve equations and use formulas.
D. Represent situations with algebraic expressions or equations.
E. Write an expression or equation to represent a situation.
24. Classification and | A Solve problems involving the organization of data.
Logical Reasoning | 3 g1t or classify objects, and draw logical conclusions from data including Venn diagrams,
combinations, permutations and transitive reasoning questions.
25. Mathematical A. Solve extended numerical, statistical and spatial problems.
Applications

333




GRADE 8 SAMPLE ITEMS

1. Place Value - MC

Which number is equal to 3.02 x 10*?

©) 0.000302
©) 0.0302
O] 30,200
©) 3,020,000

3. Equivalent Fractions, Decimals and Percents - MC

At a school bake sale, % of the number of pies sold were apple pies. Which percent is

equal to % ?

©) 10%
©) 20%
O] 40%
©) 60%

3. Equivalent Fractions, Decimals and Percents - OE

S-1 Shade in 2.18 of the place-value blocks.

Key: O = .01
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S1B Shade in 2.18 of the place-value blocks.

SIC Shade in2:18 of the pIace-value biocks
QIEEE{

E': lria

m-m":!

m
i
il
=
i

T'HEBQ

IBIEIES
ST

nmﬁmﬂm

EZEIRI
BRI
BEELIGINY
EETEHET
EEER
RN

[

R

“Key: O
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151D ghade:iii 2';1&:(;&‘ the p]aca-'va-lue:blci!‘cksz.

Key: O = .01
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4. Order, Magnitude and Rounding of Numbers - MC

Wendal and his 3 friends compared the
weights of their backpacks. The group
borrowed a scale from their homeroom
teacher and measured the weight of the
4 backpacks. The table below shows the
results of their measurements.

Backpack Weights
Owner . Welght
(in pounds)

Wendal ‘[7%
. 5
Jamie 1742
3

Raul 171
9

Mandy 17@

Who had the heaviest backpack?
Wendal
Jamie

Raul
Mandy

ONONOX®)

4. Order, Magnitude and Rounding of Numbers - OE

S-2 On the ruler below, mark an X at the point. where 5.9 cm would be.

|ll||(l|l||,l||||||
2 3 4 5 6 7 8 9 10

cm
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1 S2 A On the ruler below, mark an X at the point where 5.9 cm would be.
5 o

1
l'llll?ll[[‘l‘lllll
2 3 4 5 6 7 8 9 10

cm

| §2B Onthe ruler below, mark:an X at the pointiwhere 5.9:cm would be:

_,lll.'llllTﬁ_ilI“?’l]-l'
' 2 3 4 5 6 7 8 9. 10

cm

S2C

On the ruler below, mark an X at the point where 5.9 cm would be.

T T

cm
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S2D On the ruler below; mark an X at the point where 5.9 cm, would be.

l("l(’i.lll{|l|l'lllI'_I

cim.

| S2E On the ruler below, mark an X at-the point where 5.9 cm would be,

T XTI

223 4 B 6 7 8 9 1

cm

I

j S2F On the rulérbelow, markian.X at the point Wwhere 5.9:cm-would be.

|_||-]|'_| "l'“:l'l"'l"ll"f'
/ 2‘3 4 B 6 7 8 9 10

crm
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5. Models for Operations - MC

A farmer had 15.9 pounds of feed to give

to her cows. She had 4 feeding bins she used
to feed the cows. If she separated the feed
evenly into the 4 bins, which number sentence
could be used to determine the amount in one

bin, b?

O 159x4=5b
® 159+4=0b
O 15.9-4=b
O 159+4=0b

5. Models for Operations - OE

S-3 Write a story problem that can be solved using the number sentence

S3A Write a story problem that can be solved using the number sentence
3x83=0.

Jdnn 4 R B ad Brian oleccded f©  combine
o\ their T Money do gok oo gL Go
th ?mn\‘s, TeY ench fefson U hd 98 59,
hod  Mueh Money  woald ﬂtua{ howe offer
c;zmb;'ﬂfo; ot 2 /

S3B Write a story problem that can be solved using the number sentence
3x83=0.

Mnl’;fﬁa had — dheee plastic _confainces  iath o
'3 16 mweces of  chacslnte MmWe \n garh. Hm A_MAng
pleces  of pave ders Malina e altsgeprer?

J
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S3C Write a story problem that can be solved: using the number sentence

3x83=0.

Be M0y \aoflg222  VosMom
sz21d she weoul d .-1—%']'391 e

e M W1S e e 2o inYh e

e he hao fZ24.490

S3D Write a story problem that can be solved using the number sentence -

"3xB3=[.

d.- ; dhei sohsae of 035]\(2_%

| T mﬁ.‘b _mc_:\fx'w,s W eoch el

S3E Write a story problem that can be solved using the number sentence

3x83=[.

If Lovie had £3 e 4f -51"‘1:? fbow much wnutd he
have if_he bough # 2 ttmes 45 rueh?
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S3F Write a story problem that can be solved using the number sentence

3x8.3="CL

[24%)a 4! 57/?\;# me ﬂ?? "I'EJ Jl(.ffj a, &Zk‘@f ?QI'P

lonk Cast 2 LimeS _haee. -{lm"L 014\6 wﬂf? ﬁ(a—f

1 hsue. Haer maach Hiorcy s 7 teed 2

$3G Write a story problem that can be solved ﬁsing the number sentence
3x83=0.

A boseoall player  kad B bamervnshe nexds |
B3 mase \-\am-e\-unf +o. \'E’A'_a_ﬁﬂkaf_._\slhaﬂ‘__mml}_ !
he bove +a oat? "

S3H Write a story problem that can be solved using the number sentence

3x83=0
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S31 Write a story problem that can be solved using the number sentence

3x83=0.

Theee Daos ek &gt poiat
| Pheee ottt Dot and ey al
\"\_\)(_\%-()U‘i‘ |

7. Computation with Whole Numbers and Decimals - GR

5,006.2 —2,904.88 =
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8. Computation with Fractions - MC

21412 =
6 5
o 32
30
o 38
30
o 3~
30
o 3t
11

9. Solve Word Problems - MC

Jerry had 3% cups of mozzarella cheese and
2% cups of cheddar cheese to put on 3 pizzas.
He also added ’I—;— cups of Parmesan cheese to
the pizzas. In all, how many cups of cheese

did he put on the pizzas?

@) 10’% cups
® 7% cups
@) 7% cups
O 6% cups
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9. Solve Word Problems - GR

Kwan went shopping for new clothes. He bought 2 shirts for $18.95 each and 3 pairs of
shorts for $15.50 each. If he gave the cashier $100, how much change should he get

back?

9. Solve Word Problems - OE

Female gray squirrels generally live longer than male gray squirrels. The table below shows

> the life spans of 6 squirrels that were part of a study.
Female Life Male Life
Squirrels Span Squirrels Span
Daphne 11.3 years Boomer 8.4 years
Kiwi 9.7 years Chipper 9.2 years '
Peanut 10.5 years Rocket 7.9 years

According to the table, what was the difference, in years, of the average life span of a female

gray squirrel and a male gray squirrel?

Show your work or explain how you found your answer.
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'S1A Female gray squirrels generally live longcr than male gray squme]s The table below shows
: the life spans of 6 squirrels that were part of a study.

Female Life Male - Life
Squirrels Span Squirrels .Span
Daphne 11.3 years Boomer 8.4 years
Kiwi 9.7 years Chipper 9.2 years
. Peanut 10.5 years Rocket 7.9 years

According to the table, what was the difference, in years, of the average life span of a female

gray squirrel and a male gray squirrel? & #35..

Show your work or explain how you found your answer.

: O as
12‘{%_ - BM S [3.5
. - Qa \
16,5 14 A = dference of
| B
\
\ Ke %ﬂr\ & Cemole Gg;ni::%;? ie
Qyeoy quierel tale c:scm\{
Sy teld

._E.déﬁiﬁosmﬁ.ﬂﬁa:_nﬂffng_‘e Of bt Line raale and

fervole [Ca'lV! c‘n\}.‘. cceless LiCe SEa0S T \hon T awlnbamebed
A \ec \{

Arflprrce ,

=X e

S1B Feimiale gray squirrels generally live longer than male gray squirrels. The table below shows - - |
| .. . _the life spans of 6 squirrels that were part of a study. -

T Female | Life Male - Life
Squirrels Span Squirrels - " Span

~-“Daphne -~-|*"-11.3 years - Boomer 8.4 years

Kiwi 9.7 years Chipper 9.2 years

?.‘??!",.“? __10.5years Rocket 7.9 yéars

Accordmg to the. table what was Lhe difference, in years, of the nverage er span of a fcmale

- giay sc]u:rrel and & malé, gray squ:rn:l? . _ e . !2
. : |
“Show your work or cxplam ‘how you found your answer. ] )

gt !| t_.?)._, o %‘L‘ 2 ,. .‘
_____ - \-? qQ _ ) $

03 e

e R . a2
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R E o

SIC chale gray squlrrels gcncra]ly Inre lcmger than male gray sqmrre]s “The table below shows

. the hfe sp:ms of 6 sqmrre.ls that were part of a study.

: Female ‘Male Life
Squlrrels | e Squirrels Span
113 years Boomer 8.4 years
: "___: 9,7 years Chipper 9.2 years <
10:-5" years - Rocket 7;9 years :

] 'at"was thc difference, in ‘years, of the average life span of a fcmale.

i gray squlml and a _ale gray sqmn’el? PR Cav)
Show your work or expla: ¢ w_.you found your answer.
_L a\uc.ro\aea G‘.D'\'-"\ \\:-‘C ‘3?"\\”. QW\@ -\V\G'
'&v\q “1\ ‘\ L\'C‘) = T

' SID Female gray sqmrrels generally live longer than male gray sqmrrels The mhle below shows
- the: llfe spans: of 6 squm‘els that were part ofa study, - : . o

T

* Female Life ~ . Male
~Squirrels Span Squirrels’ - Span
- Daphne 11 3 years Boomer - 8.4 years
- KIW’I_ e 'J’years Chipper " 9.2'years
Soo|-. Peanut .. |. 10.5years _ Rocket 7.9 véars'

Accordmg to lhe table. what was the difference, in years, of the average life. span of a femalc

gray squme] and a male gray squirrel? MM Medes ~ @’. £ qeo-.cs

) S_how your r.work.or. r explain how you found your answer. . TR
'h - 9 rfﬂe“’ -
q‘?)t : ,b-sg;m& o s 5 RN ggs‘ o
o g Slslo . c 2. —-——-AJ—--—.!

A A 55" ' |l < i

I QO(: mu arai.cxa* by a&:&\m Qt% numiwl"di‘_ "
_.Jmm -F&"iwhﬁ Reats_and e Yrem Yol ’S:L o
w_l e Cone h +h:ml@s. - T i
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SIE Female: gray squm‘eIs generally lwe. longer than male gray squirrels. The table belaw shows
the life spans of. 5 squirrals 1hat were part of a study.

..Fe.ma_fe i Male Life
_Baulirely | Bpan Scquikrals: Span.
| Daphne ‘[ 113years | Boomer 8.4 years
© Kiwi 00| 9.7 years Chipper 9.2 years
- fPeanut [ .;jo._g:*ye'a_‘r_é_- Rocket | 79vears

Lhe dlﬁerence, in years, of tbe average life span  of a female
gray squmel and male gray sqmrrel? &

Show your wcrk pr. explam how you fmmd your answer.’

SIF cha]a gray sqmrrels gencrally ]we anger than male gray squ:rrels The table below shows
Lhe Ilfe spans of [ squm'els that were part of a study.

~ Male Life
. Squirrels " Span
11 3 years: Boomer 8.4 years
.= 9.7years Chipper 9.2 years
2 ) 10.'5f'yé'a'rs : Rocket 7.9 years
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S1G Female gray squirrels generally live longer than male gray squirrels. The table below shows - *
the life spans of 8 squirrels that were part of a study, |

Female Life Male Life
Squirrels Span Squirrels Span
Daphne 11.3 years Boomer 8.4 years
Kiwi 9.7 years Chipper 9.2 years
‘Peanut 10.5 years Rocket 7.9 years

Accurdmg to the table, what was the difference, in years, of the average life span of a fcmale o

gray squirrel and a male gray squirrel? M

Show your work or explain how you found your answer.

N3
9.7
05
4
o3 i
&+ 6= A5 yeess

S1H Female gray squirrels generally live longer than male gray sqmrrels The table below shows iy
the life spans of 6 squirrels that were part of a study.

Female Life Male ' Life
Squirrels Span Squirrels Span
Daphne 11.3 years Boomer 8.4 years
9.7 years Chipper 9.2 years
Peanut 10.5 years Rocket 7.9 years

According to the table, what was the difference, in years, of the average life span of a female

gray squirrel and a male gray squirrel? __._34]1;5_ .

Show your work or explain how you found your answer.

1.3 yis Q13 yes .
)b s

Z ‘JI,'-Hrs -3.9 o 5
1.6 1.3 ,3\/(.5

—Tond g B beih male/fenale dren sobacted e e
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S1I Female gray squirrels generally live longer than male gray squirrels. The table below shows
the life spans of 6 squirrels that were part of a study.

‘|-~ Female . * Life Male . -Life

ooio|.--Squirrels. | - Span - | Squirrels. Span .
~ " Daphne 11.3years *| ~ Boomer | = 8.4years
e Kiwi..._ ;i 9.7 years ~ Chipper - 9.2 years

|- Peanut . ‘| ~10.5vyears Rocket: - | 7.9 year.s.

o .ﬁé_éofdih_‘g to the table, what was the difference, in years, of the average life span of a female
- ‘gray squirrel-and a male gray squirrel? Zoq : - ' : 0

Show your work or explain how you found your answer.

' 1.2
o, 2

T slbteet— The Fople  lifsmn B
¥ el | = |

11. Estimating Solutions to Problems - OE

A stadium can hold 108,400 people. It was about % full of people for the last football game of

the season.

What is a good estimate of the number of people who attended the last game?

Explain how you made your estimate.
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S3AA stadium can hold 108,400 people. It was abnut s qu of people for the last football game
of the season.

What is a good estimate of the number of people who attended the last game? 75,000

Explain how you made your estimate.

Ar e loast Sactnail QJ(-\("'\E. Frece wes  aoouky 106,000

me_x__&hr\ % g - 759, a5 %la T T~ ¥ 1= B Y s, so

I od®Ed enn B nare Mz oed T gotr Bhoud 75,000
peco\e .

ol L2790//82 0

S3BA stadlum can hold. 108 400 people It was about 7 full of peop]e for the last fantball game -
of ths s::ason. ; '

55 What isa good estimate of the number of pcopIe who attended the last game? ﬂ,gao_ :

2, _plaln how you madcyouresumate o
I —-G'l aumpi '75 Ooo [ s 1% = () LOO% ar _
&@05 m _'g/ e&'é: %’aoo g,—.n&.%zn@.ec{,_.ém_;
/’;’W o : -

S3C A stadium can hold 108,400 people. It was about % full of people for the last football game
of the season.

What is é. good estimate of the number of people who attended the last game? 7) ) mﬂ

Explain how you made your estimate.

d At did dwn A 100,000 pnd  tued 374 of-

EOO;ﬂOh -
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4 S 3f A stadmm can hold 103-400 people It was abou: i 3 full nf people for the last fnathall game

nf lhe seasnn

aof Lhe number of people who attcnde.d the last gamsﬂwao

||0‘o@o ’s/e of /d
3 15 » a:»f-;ow?" 7'- @hd Z/‘f ap )06 "5 75‘

" . 3
S3E A stadium can hold 108,400 people. It was about - full of people for the last football game
of the season. ;

What is a good estimate of the number of people who attended the last- game? [ .

Explain how you made your estimate.

Ak T +ool %400 and Aidad 1k b 4 . Then

T ot 21100, at
Yowqe since_ e Sradion was 2 and T Ga’r 21306,

Than T veiwndgd  Hok dewin to 1,000,

S3F A stadium can hold 108,400 people. It was about -::— full of people for the last football game
of the season.

Whatis a goud estimate of the number of people who attended the last game? 72 ()

Explain how you made your estimate.

T roeded 0G0 vy 110,00  god e

‘r]i.ri' zd 0 oco bm 2 heaahse rﬁ‘fz/u

(M.'v}l‘ ) (m?']\'l’nx \:\f"\qu T Ouc?"f‘ wlhevt T

aq.{t/fd\(;! Lto 3 mr\n‘l 04’ 7) ged
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' 53(; A stadmm can ho]d 108 400 people It was about full of pcople for the last foolball game
of the season.” - : =

;';_:;-"-N!*?_!;?fzi éﬁ?ﬂ%@%ﬁ‘.ﬂ.’.&-‘#&iﬁﬁ? number of §'=°Ple:.wh'°_ atended the It éa'ﬁe"‘--' E:":‘: T
'_.'.E_x'pl'ain ho{v ymi made youres_tin_:ate. ; S
IO\u-f_as Yo 45 aneot hauf OF tonat
CPEDIGS ¢ losk Yeer So T F‘qurd Wew
S@ OOO wouqa \o<-:=_ o C(ocA cskufwzfc,

S3H A stadium can hold 108,400 people. It was ahout full of people for the last football game
of the season.

‘What is a good estimate of the number of people who attended the last game? H . ( ] )

Explain how you made your estimate.

A wenld ke 8% <o WG uecdd) e FSE g
%LU '

§3] A stadium can hold 108,400 people. It was about > 3 full of people for the last football game
of the season.

What is a good estimate of the number of people who attended the last game? 933 00

Explain how you made your estimate.

_fmmiMJgﬂl@_hmiqoLW becatice | uessec]
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12. Ratios and Proportions - MC

The ratio of pitchers to catchers at a baseball camp was 11:4. If there were 64 catchers,
how many pitchers were at the camp?

44

64
176
256

(ONONOX®)

12. Ratios and Proportions - OE

8-2  An Italian chef made 8 plates of spaghetti l’o.r every 3 plates of lasagna.
If she made 78 plates of lasagna, how many plates of spaghetti and lasagna did she make
altogether?

Show your work or explain how you found your answer.

S2A An Ttalian chef made 8 plates of spaghetti for every 3 plates of lasagna.
If she made 78 plates of lasagna, how many plates of spaghetti and lasagna did she make -

altogether? HBQ S

Show your work or explain how you found your answer.

5O% ¥ T ARG

T CRUICE) XS RHC DY YR o OOKEN 10 2 ssnad ob

RO T oo IO ) o ) SO 10 O TrCAIOSCONT ol

dﬁjggc@ﬂ e 38 O \OSOL ONED A0 el T 6 ey at
O R
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S2B An Ttalian chef made 8 plates of spaghetti for every 3 plates of lasagna. -
If she made 78 plates of lasagna, how many plates of spaghetti and lasagna did she make

altogether? __%__

- Show your work or explain how you found your answer,

26 26 209
73 x8 +73.
208 296

S2C An Italian chef made 8 plates of spaghetti for every 3 plates of lasagna.
' If she made 78 plates of lasagna, how many plates of spaghetti and lasagna did she make

altogether? AT

~ Show your work or explain how you found your answer.

b
RO
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SZD An Ttalian chef made 8 plates of spaghetti for every 3 plates of lasagna.
If she made 78 plates of lasagna, how many plates of spaghetti and lasagna did she make

altogether? _ 2 B2

" Show your work or explain how you found your answer.

3 . ._>_<...- 'x'-"'ZQH

_'3-.5 s =5R +7g
' 22

Lsex 0D H0e @OTEM LU YCWIBS _Hnen
CGIS muNQIlEd ana SNWIORR., (T8 * B+ ).

i \ cx + saee B e T Y,

'S2E An Italian chef made 8 plates of spaghetti for every 3 plates of lasagna.

If she made 78 plates of lasagna, how rﬁany plates of spaghetti and lasagna did she make
altogether? ﬁ:ﬂ 2 ;5

Show your work or explain how you found your answer,

784% 7 20

Lh X% = 0%
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SZF An Italian chef made 8 plates of spaghetu for every 3 platcs of lasagna
If she made 78 plates of lasagna, how many plates of spaghem and lasagna did she make

. altogether_? L,%

Show your work or explain how you found your answer.

T added

S2G An Italian chef made 8 plates of spaghetti for every 3 plates of lasagna.
If she made 78 plates of lasagna, how many plates of spaghetti and Ias:hgna did she make

altogether? 8 '

Show your work or explain how ydu found your answer.

\
1%
S
3
% 9

.H.-
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S2H An Italian chef made 8 plates of spaghetti for every 3 plates of lasagna.
If she made 78 plates of lasagna, how many plates of spaghetti and lasagna did she make
altogether? 753-

Show your work or explain how you found your answer.
s B
X4

+ 1%
ToN.

5

S21 An Italian chef made 8 plates of spaghetti for every 3 plates of lasagiia.
If she made 78 plates of lasagna, how many plates of spaghetti and Iasagna did she make

altogether? 6?—‘_1\
Show your work or explain how you found your answer Lo 8 (ko O'C

oE.
wal i Hoe S peke o e .
Spedrettit Lw_m o e T8 Pl;ew
N ol q9e  Yees(x) 8 e~ 8% .

358




13. Computation with Percents - GR

What is 76% of 56?

15. Approximating Measures - MC

The large square below is the base of a container. The small square is the base of a block.

Container
Block

Pablo filled the container evenly to the top with blocks stacked 4 high. Which is the best
approximation for the number of blocks needed to fill the container evenly?

9
16
36
64

ONONOX®)
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16. Customary and Metric Measures - OE

S-3 Phil made sand art decorations. He had a rectangular container that he filled 3 way full of
sand. The picture shows the dimensions of the container.

14 inches

8 inches

23 inches
What is the volume of the space that Phil filled with sand?

Show your work or explain how you found your answer.

S3A Phil made sand art decorations. He had a rectangular container that he filled + 7 way fu]l of"
sand. The picture shows the dimensions of the container. ; e |

14 inches

8 inches

L 1
T 1

23 inches _ )
What is the volume of the space that Phil filled with sand? _Laisjﬂ-s ;

Show your work or explain how you found your answer.

TThe Romgles S \olowe 18 Lt wifh. (as:f gy 1)

: X 576 ln . Since e

bnlu Billea T b cndinas P aween ooy 5 4 L.+
\3.‘8‘6 1a3

360



S3B Phal made sand

. sand. The. p:cture. shows he dimensjons of the container.

‘14inches_

8inches

i 23|nchas
] mpace  fiat Phil filled with sand? _h_f'b

Shuw yu'ur work o: exp]am how you found your answer. B
g 1 Got X '9-%8 \Decowuse B wies
Y€ wdly BOLL S5 a7 lhes gl
e VAR ”‘\":- SAal )\-’r\D\l"F‘(“\ o gsz D &m
_ﬁ\o‘\—‘ \J Dg%a £y

What is the volume

S3C Phil made sand art decorations. He had a :ectangu!ar container that he filled ~ 7 way full of .
sand. The picture shows the dimensions of the container. )

14 inches

23 inches
What is the volume of the space that Phil ﬁll#id with sand? .Lm

Show your work or explain how you found your answer.

A 225 8"= 2 P 502 1, 28" X
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S3D Phil made sand art decorations. He had a rectangular container that he filled % way full of
" sand. The picture shows the dimensions of the container.

-3
X% T
k3 Y
x 159 257k
1 ;%%‘:’ 14 inches
B M= 2516y,
ke 8 inches

\X\'«!k\'\ 23 inches
What is the volume of the space that Phil filled with sand? 25 e e =,

Show your work or explain how you found your answer,

- 3 .

Iy R nuand den by e velgnk udiidn S I inchen san will_gelb
5T wrelnes,

S3E Phil made sand art decorations. Ht: had a rectangular container that he filled -% way full of -
sand. The picture shows the dimensions of the container. e i

8 inches

1 ; y
¥ T 1
23 inches

. -%-_ What s the volume of the space that Phil filled with sand? .‘_’_)_%% '

* Show your work or explain how you found your answer.
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S3F“'Ph-il. made sand art decorations. He had a rectangular container that he filled + way full of
- sand. The picture shows the dimensions of the container.

_14inches |

8 inches

> : R L4 Inchas
Lo What is thc volume of the space that Phil filled with sand? Qm_lﬂt

e ! Show your work or explain how you found your-answer.

AU X 223X Q= 907N %2z A6

S3G Phl! made sal'ld art decorahons He had a rectangular container that he filled — way full of
sand. The piclifre shows the dimensions of the container.

14 inches

S v : “ 7 23inches
.Wh.a.t is d:w volume of the-space that Phil filled with sand? L‘;S\ ache.s
~ Show your work or explain how you found your answer, -

S Wabier s Fods e J»h.gl’"

- P
..:r'h.\!.' eidspaer [T/
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53H Phil made sand mdemratiuns Ha had a remngular container that- he ﬁl[ed -— way full of
. smd The pmmre shnws the dunénslons of the container. o

14 inches | |

8inches

: 23 inchas'

S3I Phil made sand art decorations. He had a rectangular container that he filled 7 way full 0f
sand. The picture shows the dimensions of the container.

14 inches

8 inches

23 inches
What is the volume of the space that Phil filled with sand? 215 sq ft

Show your work or explain how you found your answer.

Molfiglied iqglbxg,hMQQ_éy
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16. Customary and Metric Measures - MC

Eli’s car weighs 3,350 pounds. How many tons does the car weigh?
O 0.1675

0.675

1.675

16.75

O ® O

17. Geometric Shapes and Properties - MC

The picture below shows two flagpoles.

~
- -

These flagpoles appear to create what kind
of lines?

Parallel
Perpendicular
Intersecting
Obtuse

OXONOXO,
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18. Spatial Relationships - OE

8-7 Barry traced the outline of two different floor tiles. The pictures below show his outlines.

Do the tiles appear to be similar?

Explain how you could tell for sure whether or not they are similar.

S7A Barry traced the outline of two different floor tiles. The pictures below show his outlines.

Do the tiles appear to be similar?_No

Explain how you could tell for sure whether or not they are similar.

Thew o nek Swnilac because ey acervk e Same Shage . One

fhog 20° Qng}\&ﬂ and ~He ather doesrd. ITF Hoo Shapes are suvidar

Fd

dne shape 1s e same bt e size s difReeng.
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|
S7B Barry traced the outline of two different floor tiles. The pictures below show his outlines.

Do the tiles appear to be similar?&ﬂ

" Explain how you could tell for sure whether or not they are similar. -

‘I’ conld ‘}e-‘u. d"Ln)’ }J""y """""d“{’.’ & by farm becoust

e Ly v hes UM Mgl ongld  emd e obter

'pml_ﬁH-' 1'\»5 i)

S7( Barry traced the outline of two different floor tiles. The pictures below show his outlines.

Do the tiles appear to be similar? no

Expfain how you could tell for sure whether or not they are similar.

SRedag r@(\\ﬁ({""\ Wool\d gk ek 0re angl

APOSEE VMY e A geue Adon™ Yowe

AR Soumb Qm\t* MW HRY A0k SN
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S7D Barry traced the outline of two different floor tiles. The pictures below show his outlines.

Do the tiles appear to be similar?_No

Explain how you could tell for sure whether or not they are similar.

e btQaCy Hle 1§ Somoecahat cianied do Hho
rignt unlike Ahe Smaticy 41l¢ oo (§
S QL GV

STE Barry traced the outline of two different floor tiles. The pictures below show his outlines.

Do the tiles appear to be similar?_AD
Explain how you could tell for sure whether or not they are similar.

Ao H»w ar® not gimilac becavge %e,bm e

1S 4 ﬁamﬁ {oomm C\M *H'Vﬁ smalter S}Iaﬂf« 1'% a
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S7F Barry traced the outline of two different floor tiles. The pictures below show his outlines.

Do the tiles appear to be similar? NGO

Explain how you could tell for sure whether or not they are similar.

\ne\f.‘% con't o2 \oecayse ore
ed

S7G Barry traced the outline ‘of two different floor tiles. The pictures below show his outlines..

Do the tiles appear to be similar? Ues

Explain how you could tell for sure whether or not they are similar.
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S7H Barry tracedithe outline of two different floor tiles. The pictures below show his outlifies.

Do the tiles appear to be similar?, N (-

Explain how you could tell for sure whether or not Lhey are similar..

bw, S e Mﬂﬂ, Oty

Do the tiles appear to be similar?- 2.5

Explain how y;:m could tell for sure whether or not they are similar.

ﬂQA’f are 5‘:m.\ﬂ/‘ Keaause |+ \s aéﬁm-}e,y “H'te Same.

S§71 Barry traced the outline of two different floor tiles. The pictures below show his outlines.

5Luq pe He fres are Just @\ NeLerenk mrqfes.
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18. Spatial Relationships - MC

What view of the barrels is seen by the person in the picture?

371



19. Tables, Graphs and Charts - MC

This graph shows the winning percentage
during the 2000 Major League Baseball
regular season of the Eastern Division of
the American League.

Eastern Division Winning Percentage

% of Games Won

The Chicago White Sox, in the Central
Division, had a winning percentage of 59%.
About how much greater was their winning
percentage than the percentage of the Boston
Red Sox?

O 2%
® 6%
O 13%
O 16%
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19. Tables, Graphs and Charts - OE

The table shows the number of years ago several kinds of clothing were first worn.

Early Kinds of Clothing

T
Belts and Trousers 30,000
Knitted Skirts 20,000
Cotton 6,500
Silk 5,000
Buttoned Garments 13,000

Complete a bar graph to show the same information.

S8A The table shows the number of years ago several kinds of clothing were first worn.

Early Kinds of Clothing
ot [ Ve
Belts and Trousers 30,000
Knitted Skirts 20,000
Cotton 6,500
Silk 5,000
Buttoned Garments 13,000

Complete a bar graph to show the same information,

ELlrg el
I
m—‘@
A
ﬁm R/
ik u 77 -
i% 7
i /i 17
_ | Lol 1Y
Mo & R 1y
}5-\-“‘ S
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S8B The table shows the number of years ago several kinds of clothing were first worn,

Early Kinds of Clothing
Kind Veurs fun
" Belts and Trousers 30,000
" Knitted Skirts 20,000
Cotton 6,500
Silk 5,000
Buttoned Garments 13,000

Comp_lcltc.: .bgr graph to show the same information.

RN
N

S =
Corref $TIk [ bugy
T 3

Ssc.llhe éah.Ie-: xbcws .lh-e ﬁumbcr of years ago several kinds of clothing were first worn.

Early Kinds of Clothing
vy Number of
Kind Years Ago
Belts and Trousers 30,000
Knitted Skirts 20,000
"~ Cotton 6,500
Silk 5,000
" Buttoned Garments 13,000

Complete a bar graph to show the same information.

Buftored Carmerts
Silk
coHon
katted skirts

&1l St

=

UZH
f

BeHs and TrauserS R = v s

500 Wwigaa !S’.aéo 80 35008 ' 30:000

12808 Number of _qe,é\(S‘ ago-
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S8D The table sho'-ﬁ the number of years ago several kinds of clothing were first womn.

Early Kinds of Clothing
e
Belts and Trousers 30,000
Knitted Skirts 20,000
Cotton 6,600
Silk 5,000
Buttoned Garments 13,000

Complete a bar graph to show the same information.

S8E The table shows the number of years ago several kinds of clothing were first worn.

Early Kinds of Clothing
Number of
Mindt Years Ago
A’ Belts and Trousers 30,000
8 Knitted Skirts 20,000
¢ Cotton 6,500
D Silk 5,000
& Buttoned Garments 13,000
Complete a bar graph to show the same information.
ZoO0
1502°
26000
1so00 — -
70000 =
Sooo
AR
Fal T 7 bedtrnd
ond  FHTH J s
Theuesrx
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S8F The table shows the number of years ago several kinds of clothing were first wom. .

Early Kinds of Clothing
o |
Belts and Trousers ) 30,000
Knitted Skirts 20,000 -
Cotton 6,600
Silk 5,000
Buttoned Garments 13,000

Complete a bar graph to show the same information.

WOTR ;
.;;Janu-‘
aopoo 4l
16,080 -
t
o AL

S8G The table shows the number of years ago several kinds of clothing were first worn.

Early Kinds of Clothing
Kind Years Ago
Belts and Trousers 30,000
__ Knitted Skirts* |- 20,000
Cotton 6,600
Silk - 5,000
Buttoned Garments 13,000

Complete a bar graph to show the same information,

Be00
20—
20,000 l
15,660 4 7 ; '
ceoo i
5,000 - S T,
e 3l 4 gé
K Sl 8 1fs]
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: S8H-The table-shows the number of years ago several kinds of clothing werg first worn.

Early Kinds of Clothing
ey
Balts and Trousers 30,000
Knitted Skirts 20,000
Cotton B,S'UQ
Silk 5,000
Buttoned Garments 13,000

Complete a-bar graph to show the same information.

S-81 The table shows the number of years ago several kinds of c]uthing were first worn.

Early Kinds of Clothing
ki i
Belts and Trousers 30,000
Knitted Skirts r 20,000
Cotton 6,500
Silk ~ 5,000
Buttoned Garments 13,000

C'omp[ete a bar graph to show the same infﬁrmatimy.

3Pl
D8P
6i5e0
5,000 -
3,000
. 2
;g;? s §f e
53 % % 32_"'% (g? |5'—"
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20. Statistics and Data Analysis - OE

S-4 The graph shows six planets and the number of miles each planet is from the Sun.
Planets’ Average Distance From Sun
1000
900
800
700
600
500
400
300
200

100
0 —

Miles (in millions)

Planet

Michelle claims that Jupiter is about 3.4 times farther than Mars is from the Sun.

Based on the graph, is Michelle’s claim reasonable? Write an explanation to show why
you agree or why you do not agree with Michelle’s claim.

S4A The graph shows six planets and the number of miles each planet is from the Sun.
Planets’ Average Distance From Sun
1000 : : : =
900 :

Miles (in millions)

@ g & 2
Q‘b ‘!? i >¢é{‘ Qé'o
B I
Planet

Michelle claims that Jupiter is about 3.4 times farther than Mars is from the Sun.

Based on the graph, is Michelle’s claim reasonable? Write ‘an explanation to show why
you agree or why you do not agree with Michelle’s claim. .

\{ﬂ- NA ats 18 n\_lzg"- . 1‘§ofm'llim wtles avey .
Molbigly  ShbSPE fan it gt SAD.
—Tul‘bla,d',; {ooks pbodk 400, sp lhes h’.gl‘m&h_m 3
ask ‘ol ]
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S4B The graph shows six planets and the number of miles each planet is from the Sun.
Planets’ Average Distance From Sun

1000
900.
800
700
600
500

Miles (in millions)

& & & 2 & &
3
@‘5‘0 & & & s o
Planet
Michelle claims that Jupiter is about 3.4 times farther than Mars is from the Sun.

Based on the graph, is Michelle's claim ble? Write an explanation to show why
you agree or why you do not agree with Michelle's claim. .

Ves T4+ s ceasonokb,.T yad) gividt . 500 hy
T = 7 7

. wiell witla Tan

S4C The gn:!p}ﬁshows six planets and/the numbier of milés each planetiis: from the Sun.
: Planets’ Average Distance From Sun

11000 -
. 800
800
. 700
. 800!
500
© 400
' 300
. 200
100

Miles (in millions)

O R N S S
& R AR RN
- Planet

hﬁéh‘e!ie claims: that Jupiter is abouti3.4 times farther than Mars is from the Sun:.

Based on the graph, i§ Michiellé’s claim reasonable? Write an explanation to show why
you agree or why, yow do not agree with Michelle's claim.

By beequno Poovaom - Ain Yomere . Sobon ot ek

S0 ;n\\.pSLl;\ o
Who /1Be. > - %96
St 338
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S4D The graph shows six planets and the number of miles each planet is from the Sun.
Planets’ A\}emge Distance From Sun :'

" 1000 : - ;

800 - -
800
700
600

500

Miles {in millions)

! 5
& ¢ & &
! G \p‘s : Q?§ W : ?}Q@ %ﬁ)

Planet

Michelle claims that Jupiter is about 3.4 times farther than Mars is from the Sun.

Based on the graph, is Michelle's claim reasonable? Write an éxplnnaiian to show whf
you agree or why you do not agree with Michelle’s claim. i

Michelles cldirm 1S ndY réoconable b.li’ca.u.se

-

and _w~u ) 1\ 1+ lovs 5-‘\' _yod gfﬁ a

\CSS—F(I oprnount Ytnarm e P;ra-u'r'*e

\eads you 0D imd g ‘ne.

S4E The graph shows six planets and the number of miles each planet is from the Sun.
Planets’ Average Distance From Sun

1000
200

Miles (in millions)
o,
(=3
(=3

P eg:\ & &
@*’
Pla_net

Michelle elaims that Jupiter is about 3.4 times farther than Mars is from the Sun.

Based on the graph, is Michelle's claim ble? Wﬂis?.nn explanation to show why
you agree or why you do not agree with Michelle's claim.

Wo bewsase B4 (1D) ¢ §10 and Topibe ic ohond 290ml

RN Lromn thy, Sin
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S4F The graph shows six planets and the number of miles each p]_anet is from the Sun.
Planets’ Average Distance From Sun

1000
900
800
Z 700
(=]
£ 600
E 500
‘s 400 :
£ 300 ;
200
100 _
o7 ) & L& & e &
‘x@k‘? Aﬁo Q? ‘s\ 3\)& %e@

: Planet _
Michelle claims that Jupiter is about 3.4 times farther the.n'Mnrs is from the Sun.

Based on the grapli. is Michelle’s claim :i'ensonahla? Write an explanation to show why
you agree or why you do not agree with Michelle's claim. ,

Al Mictan ll ] s T ¢ < Ll l
! . L
s Muwu\r\,r 3 d;;j:m:x Tirn— Lt Slaky iy g.hmxt He o
o | N sles  aed Txn E.;-u.rh s aboat H30 wiliow
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N Y e spoma  kanpes [ P e - A PP [ B
L ( i
Y90, bt Yastead 1D

S4G The graph shows six planets and the number of miles each planet is from the Sun.
Planets’ Average Distance From Sun

1000
900

800 e
T 700 i—
£ 600 i —

t K
£ W R
g 400 U
Z 300 i ;;;\—‘
200 4 ]

100 | 4
" T -

& & & g &

B & &
épﬂdb < é\ }‘tﬂ gf)

Planet
Michelle claims that Jupiter'is about 3.4 times farther than Mars is from the Sun.

Based on the graph, is Michelle’s claim reasonable? Write an explanation to show why
you agree or why you do not agree with Michelle’s claim.

[ don't Thips TDrar palche go 'S
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I ] E : .
S4H The graph show six planets and the number of miles each planet is from the Sun.

! Planets’ Average Distance From Sun

i

1000
900
800
700
600
500
400 4
1300 -
200
100 7 = —8
g H—E=m i - i

. 3 -
;‘!& 3 400\)% -. Q?cls \!'"D@ ! 3\'\#@ - 60"0@
5 Planet

Michelle claims that Jupiter is about 3.4 times farther than Mars is from the Sun.

Miles (in millions)

Based on the graph, is Michelle’s claim r ble? Write an explanation to show why
you agree or why you do not agree with Michelle's claim.

N dont _ogee  wdn hec claim

beeavde  + 5 I Jow. She peedS fo

5?6 'Lgﬂl\e_f R 5"! decimal,

S41 The graph shows six planets and the number of miles each planet is from the Sun.
Planets’ Average Distance From Sun

1000
200
800
700
600
500
400
300
200

fod P

s"‘zs\ 4.;0? Qfé& \“éﬁ 5\)6{9‘

Miles (in millions).

[TTTTTT]

%,
() e e S i

%,

Planet
Michelle claims that Jupiter is about 3.4 times farther than Mars is from the Sun.

Based on the graph, is Michelle’s claim reasonable? Write an explanation to show why
you agree or why you do not agree with Michelle's claim.

T ool e olese
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20. Statistics and Data Analysis - GR

Louis works at a supermarket. His earnings from his last four paychecks are shown
below.

$187.53 $168.76
$205.64 $252.71

What is the mean of Louis’ earnings from these four paychecks?

21. Probability - MC

The spinners below are each divided into 4 equal sections

If each spinner is spun once, what is the probability that the arrows will both land on A?
2

O 16
2

4

O
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21. Probability - OE

S-4 Bob was playing a game with his best friend, Jose. Jose would toss 2 coins at the same time.
Jose would get a point each time the coins came up with one heads and one tails. Bob would
get a point each time the coins came up either both heads or both tails.

Is this game fair?

Explain why or why not using the outcomes of tossing 2 coins.

S4A Bob was playing a'game with his best friend, Jose. Jose would toss 2 coins at the same time.
Jose would get a point each time the coins came up with one heads and one tails. Bob wuuld
) geta pomt each time the coins came np either both heads or both talls

Is this game fair? _\lgja._

Explam why or why not using the outcomes of tossing 2 coins.

.\(u. I 3&\\\\'\\‘ ‘\f\\g_ 'uh &mmg l& Laie \Jecau.'aa :
s o Soh dere Wb He cios lilod o 2
I\ heogsiond ™ L deds cr lxM« \\eads ol lao.lh

S4B Bob was playmg a game wlth hls best fncnd Jose. Jose would toss 2 coins at the same time.
Jose. would get a point each time the coins came up with one heads and oné tails, Bob would
‘geta pmnt each t:me the coins came up either both hcads or both tails.

s this game fair? _ <% -

Explain why or why not using the outcomes.of tossing 2 coins.

j’, tie h eq d-s o 'hv; i ls ',7' 2

J'wo 15#__&5_“1_;4“
i‘\c )u‘-;C: seAs ) km(.(»s D ({..gg;b. ] }_*\-Is [Lg
'T;A lq \UO\J;/ y cr( wnmnﬂ
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S4C Bob was playing a game with his best fncnd Jose. Jose would toss 2 coins at the same time.
Jose would get.a point each time the coins came up with one heads and one tails. Bob would
get a point each time the coins came up either both heads or both tails.

s this game fair?_Vos, :

Explaln why or why not usmg the outcomes of tossing 2 coins
oy I

vwm m m w‘u xm-f Vb M\«e«w

S4D Bob was playmg a game with his best friend, Jose. Jose would toss 2 coins at thc same time. o
Jose would get a point each time the coins came up with one heads and one uuls Boh wuuld _
get a point each ume the coins came up either both heads or both tails. B

-=Ts this- game falr" g‘aeg :

Explam why or why not usmg the outcomes of tossing 2 coins.’

I:—\— s {bur b?c*mks.a Jse os _a 60/5 Ch’lnm
O‘C— m\r\mm mp(\ A daex Fn‘n

| S4E Bob Was playmg a game with his best friend, Jose. Jose would toss 2 coins at the same time.
Jose would geta point each time the coins came up with one heads and one tails, Bcb would
geta pmnt each time the coms came up e.uher both heads or both'tails.

3 ls this game fair? 2L .

. Explam why or why not usmg the outcomes of tossing 2 coins. -

'ZI s (B ein_Cone e e Sirce “hore are 2 coum
|ane cain Eweal din oS Ord ke oHhor oL, Can ard :
|on wolls - very eosiiy, Wio ot of J_‘e._aias_cm__ :
TaX2Y % ol wm wann\ro} t'n\-h m V\G(‘\C\"S Or’ :
b:r\\'\ U‘\ 4&\\‘%

385



S4F - Bob was playing a game with his best friend, José. Jose would toss 2 coins at the same time:"

 get a point each time the coins came up either both heads or. bo:h tails,’

L
-Is this game falr? !ES :

Explam why or. why not using the outcomes of tossmg 2 coins, .

5‘0

_Jose would get a point each time the coins came up with one heads and one tails. Bob would-

'S4G Bob was playing a game with his best friend; Jose. Jose would toss 2 coins at the same time.- .
Jose would get a point each time the coins canie up with one heads and one tails. Bob ‘would
get a point each ume ¢ coins carne le up either both heads ot both tails,

“Is this game f'au'?

' Explam why or why not usmg the outcomes of tcssmg 2 coins.

fﬁ'mua. daes ok None as acod
= fﬁnmc-@_ a;‘ @\ﬁh\r\o Bt @\ﬁh 6@{:
k@ R aﬁa\\fl‘i —5\'\@, ;\‘{m n~>~_, )f“iv OF"\"L\-Q

S4H Bob was playing a game with his best friend, Jose. Jose would toss 2 coins at the same time.
Jose would get a point each time the coins came up with one heads and one tails. Bob would
get a point each time the coins came up either both heads or both tails.

Is this game fair? 5\4- =

Explain why or why not using the outcomes of tossing 2 coins.
T\'\_‘?‘b Lo ae Qo
hecavse Ne. coln R\ a®eoe [0

e  exe O AN o\ c, N\
e (‘QC:\\\L& Mooy
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S41 Bob was playmg a game w:th his best friend, Jose. Jose would toss 2 coins at the same hme _
-Jose would get a-point each time the_coins came up with one heads and one tails. Bob would: |
-geta pomt each'time the coins came up either both heads or both laﬂs :

Is this game fau‘? 2 1 () LR

= Explam why or why not usmg the outcomes of tossmg 2 coins.

'--%mns Pm\o \/\aﬁ a_ mur‘.x n:ea\w r}\;\m’\ﬁt eﬂ-\.

Y Q\M\\ ﬁQf"

22. Patterns - MC

The numbers below follow a pattern.
12,24,48,96, _ , __ ,_ ,__,__, 2

What is the 10th term in the pattern?

® 6144
O 5744

O 3072
O 192
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22. Patterns - OE

S-3 These numbers follow a pattern.

610, 510, 420, __? ? ,210, 160

4

Which numbers are missing?

Explain why you think they are the missing numbers.

.é3 A . These numbers follow a pattern.

610, 510, 420, _? 2, 210, 160

Which numbers are missing? BﬂQ_ 210

e B'xplaiﬁ' why .you_.think- they are the missing numbers.

I .
S3B These numbers follow a pattern.

610,510,420, _2? ,_? , 210, 160

‘Which numbers are missing?. %TO, 270

Explain why you think tﬁey are the missing numbers.

Bl joo-5o 50907420 9-56-240  3%.76°00 2
270-60: 20 jo-mn=140
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SSC 'fhese numbers fcllowapattcm -_ e
6104/510/420\,/ ? -2 210,160

jau %0 30 0 U S0

.. 'Which numbers are missing? __éﬂg,_zzo

Explain why you think they are the missing numbers.

—

S3D 'l‘hese numbers fo]lowapattem ?0 =0 .5‘3
--610,. 510 420, 2,2 210,160

S Q- : ¥
. Which numbers are. mlssmg" M7o :

Exp!am why you thmk they are the _missing numbers.

\ O Moe Qe Y M\C\S\m r\@{\\bt:ﬁ

\ceranee \ chm\'cct aut what dhc potfon

s a0d e Ald At work o

ek “+he %u\;t) COISSWVD ApniOess. | eubitacted

)176 Fmr\”l YA, Qf\d ‘\)\.I'WC (5.9 Com M0

Yen I fh’rfﬁd

1
S3E These numbers follow a patlem ,

610, 510, 420, _? ,_? 210, 160

Whlch numbers are missing? Ms o

Exp]am why ynn think the.y are the mlssmg numbers.

T‘\?/Y até the mn§5|n:? num_l)u*: .
: be«couw@/ Wwhea Vouy syubtract the £irst

o numLcrg,.'H\fJ\, 4o hv oneg l'wn::'rfJ.-I

"""'*wkbn '\m.f Gub-l'uﬁ Qlf] and Y2p Tig -
- f\o.% bv nme-lwc; Every 'hm& yoy
' "SUIL'hm ct 1 wo R 1% jae.s off 15119 ten,
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I_ T
S3F These numbers follow a pattcm

160,510,420, 2,2, 210,160

Whlch numbers are tmssmg'? ,ﬂ() ) ) 3 ‘|

' _' Explam why you thmk they are the missing numbers.

‘Z&ﬁfﬁ z@éf Lny %43t‘£ﬂféé?r? 4&?

S3G  These ﬁumbers folluw a pﬁttcrﬁ

610, 510, 420, ?_._? 210,160

Whlch numbers arc mlssmg‘? _b_g(%_B ‘D

' Explam why you lhmk they are the m:ssmg numbers.

“ -\*- M e W TR O OIS, GRQ mlomﬂ%
R QW Me nu g dredt dve Ao OT‘?.G.J‘(\%'- s

aces 4 oo go.

_SSH 'I‘hese ﬁumbers follow a pattern. "3 tD Q‘-tC) : _ _
610 510, 420 ?_ st 210, 160

o L‘ = : ‘;(}
Which numbers ai'e missing? M(’L ' .

Explam why yeu think they are the rmssmg numbers.

b‘?ﬁ\( 60 X \edls o A—% C’?o\OG\
TS Llo 60 ant\ Xhoxs =i
10 hedoven  bodhy 1\k1LdoeVs P
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§3y These numbers follow a pattern.

610,510,420, .2 ,_? ,210,160

" “Which numbers.are missing? /0, 320

. Explain why you think they are the missing numbers.

e,

e w'(}z/' 6:/ e

23. Algebraic Concepts - GR

What is the value of x in this equation?
2x—4.01=17.13
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23. Algebraic Concepts - OE

S-6 Jenny has a collection of baseball and football cards. For every 5 baseball cards in the
collection, there are 2 football cards.

If Jenny has a total of 133 cards in her collection, how many baseball cards does
she have?

Show how you could use the table below to solve the problem.

Baseball Football Total

5 2 7

56 A Ienny Jms a-collection of baseball and footballicards, For e.verx 5 baseball ca:ds in the } |
coﬂecnon, there: are '2football cards o i _ S . ,.

E‘Jenny has a total of 133 cards m.he:r collecuon, how many baaeball. cards does'
she have?

Sﬂow_r how you could use the:table below to solve the problem..

‘Baseball | - Football - Total - ||
i 5 iy Loy s
I Lg% & ik i
205 ‘g | 2Y

NG B )56
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S6B Jenny has a collection of baseball and football cards. For every 5 baseball cards in the
collection, there are 2 football cards.

If Jenny has a tggal 0fJ.33 cards in her collection, how many baseball cards does
she have? ﬁ

Show how you could use the table below to solve the problem.

: ; | €%
Basgball Fog}baﬂ Tofal
3’ ¥ ‘é tﬁ_ 7
95 o % -

SR

9

SGC Jenny has:a colléetion of baseball and football cards For every 5 baseball cards in thie .
collecuon there are 2 football eards '

f J‘enny has atotal ofi 133 cards in hsr eoll’ectmn, how: many baseball’ catds does
she have? ___ﬁ-’i)"________ :

Show-thow you_' 'could_ use thie table below to -séwe.tﬁe'pmbl‘ém; .

 Baseball . Football! . ~ Total'
5 ' g A o TE
! o R Y-
I L VI3
Ak

393



|S6D Jenny: hah a collccmon of Baseball and football cards For. e\tery 5 baseball cards in: the .
| col]ectmn t.hare are 2' fontball cards. : i .} :

- If- Jenny: has a total of 133 cards in her: callectmn how rnany baseball’ cdrds does
she. ﬁave? \: \,O _

Sh’ow -how-:.reu. could use the:table below :o'.éﬂlrﬁe- the problem. -

Baseball _Football 'T'-"t?'

5 . Lo ‘: g

Lo e

S R

20 & >y

25 1. B35
S oY az )

S6E Jenny has;a collection of baseball and rfaotball cards; For - every 5 baseball cards inthe.
collection; there are 2‘football cards, . . _ :

If Jenny has a total ofi133 eards in her eollection, }mw mnny basebafl cards: ﬂdes
she have?‘ ;N

Show how yau céiﬂdl’use the table .belbw-fo:su]}\ie the problem. -

Football - | Total

8. 2 e
95| 3% | ng

i Baseball:
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]

If J’enny has a total & 133 ©
_she have.? : ®

AL

S6F Jeuny has a coHccuom iofibaseball and footbal.l cards. Foruevery 5 baseball cdrdsin the
collection, there are 2. football rcaz:ds :

s in her collacnon. how: many baseball cards daes

T

Show h’ow youwscould: use. the:table. below. to sul\ic-me'ptoblcrﬁ.' . I

B_aseba‘ll

i % B
_Foothall" i

o TR
5 2 g
L ric i
'F : :.\!- | : i

|.|
I
]

collection, there are 2 fooiba]l cards, ..

SGG Jenny has a collection of baseball and footballicards. For every 5 basebali cards in the

It Jenny has a total of 133 cards in her collection, how many baseball cards does -

she have?

Show- ihgw you could use the table below to solve the..prﬁ'bIem.-

Bajsehall i

B

2

Football
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{S6H Ienny has a collectmn. of baseball and footbalI ca.rds For every 5 baseball ‘cards i in the
colle.chon, there, are 2 football cards.

she havc?

Show., h'ofw you could mse the table Eeloﬁ. to sg;_lve.:the: problen.

‘Baseball -

Football

| Totél . ..

IS:;:'-

2

s,

]
s/ .
s

3
5.
5.
g,
oy

i

she have?

Show how you could use the table below to solve the problem.

Basebhall

Football

Total

2
5%

7
123

G 3

oS

=1

153

2D

2B

5

=1

S61 Jenny has a collection of baseball and football cards. For every 5 baseball cards in the
collection, there are 2 football cards.

. If Jenny has a total of 133 cards in her collection, how many baseball cards does
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23. Algebraic Concepts - MC

Wendy was a painter. She paid $14.00 for
each gallon of paint she bought. She also
bought a new brush for $4.99. If x represents
the number of gallons of paint she bought,
which expression shows the amount of money
she spent on paint and the brush?

14 — 4.99x
14x — 4.99
14 + 4.99x
14x + 4.99

ONOXOX®)

24. Classification and Logical Reasoning - MC

The following are clues to Carmen’s age.

» Itis an odd number greater than 10 but
less than 22.

* [t is not a prime number.

» It is not divisible by 5.

What is Carmen’s age?

O 15
O 17
® 21
O 23
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24. Classification and Logical Reasoning - OE

S-5 Use the Venn diagram to help you sort shapes.

Regular More than 4 Lines
Polygons Of Symmetry

Write the letter of each shape below into the appropriate set in the Venn diagram.

O A ]

. S5A Use the Venn diagram to help you sort shapes.

c p

Regular More than 4 Lines
Polygons Of Symmetry

Write the letter of each shape below into the appropriate set in the Venn diagram,

W A
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S_SB Use the Venn diagram to help you sort shapes.

Regular More than 4 Lines
Polygons Of Symmetry

Write the letter of each shape below into the appropriate set in the Venn diagram.

ORONANEIRE

S5C Use the Venn diagram to help you sort shapes.

Regular More than 4 Lines
Polygons Of Symmetry .

Write the letter of each shape below into the appropriate set in the Venn diagram.

O A N ®

%

399
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S5D Use the Venn diagram to help you sort shapes.

b
c

/R 1

Regular More than 4 Lines
Polygons Of Symmetry

Write the letter of each shape below into the appropriate set in the Venn diagram.

® O A LB

SSE Use the Venn diagram to help you sort shapes.

Regular More than 4 Lines
Polygons Of Symmetry

Write the letter of each shape below into the appropriate set in the Venn diagram.

OO AL
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S5F I Use. the Venn diagram to help you sort shapes.

Regular More than 4 Lines
Polygons Of Symmetry

Write the letter of each shape below into the appropriate set in the Venn diagram.

@O AL

S5G Use the Venn diagram to help you sort shapes.

| Regular More than 4 Lines
Polygons Of Symmetry

© Write the letter of each shape below into the appropriate set in the Venn diagram.

/[ (D
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Regular
Polygons

More than 4 Lines
Of Symmetry

Writé the letter of each shapebelow into.the appropriate set in the Venn diagram.

L OFRE

(=)

S51. Use the Venn diagrari to help you sort:shapes:

- Regular
i _ Polygons.

- Of Symm

More than 4 Lines:

etw- : il

Write the:letter of ‘each shape below into-the ﬁppf_bpriat}:--s

etin the Vénn diagram.

402



25. Mathematical Applications

E-1 The Bushnell Park Carousel in Hartford opens in early May and runs through October from
11 A.M. to 5 P.M. One cycle of the carousel consists of 3 stages: loading people, the actual
ride, and unloading people. It takes about 8 minutes to complete one cycle. The actual ride
on the carousel takes 3% minutes.

If the carousel rotates 4 times per minute, how many rotations could it make from

11 A.M. to 5 P.M.7

Show your work or explain how you found your answer.

E1A The Bushnell Park Carousel in Hartford opens in early May and runs through October from
11 A.M. to 5 P.M. One cycle of the carousel consists of 3 stages: loading people, the actual e
ride, and unloading people It takes about 8 minutes to complete one cycle. The actual nde s
on the carousel takes 3— minutes.

If the carousel rotates 4 times per minute, how many rotations could it make from

Mamwosem? &30

Show your work or explain how you found your answer.

q fo‘i‘ﬁ;“m“s !"V‘""“it- % 3 mlﬂtti‘:& o L’ f“l"(“m'r/g Y m.—‘n-:c'lfi_

E0mis T Frias per afe = 1.5 ﬂvbfn/‘w_ :
14 ru‘){m{.‘v-s.t /c,(a: X 7.5 aofr: /Au&-r’ = ’05 r‘m(o-lfnr.r/ﬂ\ oy v '_

430 r\m/a .oﬂ.r

in € Lawrs

0E N\lol-'ﬂ*u‘/{nur X C hour 5 =
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E1B The Bushnell ‘Park Carousel in Hartford opens in early May and runs through October from *

11.A.M, to 5 .M. One cycle. of the carousel consists of 3 stages loading people the actual -_ )

" ride, and Uriloading people Ir lakes about 8 minutes to complcte one cycle The actual ride
on the carouse) takes 3— minutes..

If the carousel rotates 4 times per minute, how many rotations could it make from

B 11 A.l\_&._tq 5 P.M.?

Show your work or explain how you found your answer.

i S SAP TS .
vorafes 4 Himes each ride

e
o murss D minuyes
2604 2z Us
LS vides
L4542 (,30
vordes (LD e
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E1C The Bﬁ_éhnél_l_ Park Carousel in Hartford opens in early May and runs through October from '
11 A.M. to 6 P.M. One cycle of the carousel consists of 3 stages: loading people, the actual
ride, and unloading people Tt takes about 8. minutes to complete one cycle. The actual ride

“ on the Camusel takes 3-—- mmutes -

If the carousel rotates 4 times per minute, how many rotations could it make from

1AM t05prM2_C 20 colodine.

" Show your work or explain how you found your answer.

=

T Lt Gona e NI L T b S

Thee T odoglied NS \m Car® gten daaded ot b
£ and Xuen san ulaslt el -HV.-I- _lm 1), Thea ‘F‘Q_ﬂ

. te?
M A N
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E1D The Bushnell Park Carousel in Hartford opens in early May and runs through October from
11 AM. to 5 P.M. One cycle of the carousel consists of 3 stages: loading people, the actual
ride, and unloading people. Tt takes about 8 minutes to complete one cycle. The actual ride
on thc'camué;el tal-tas--Sl minutes. : '

If the carousel rotates 4 times per minute, how many rotatmns could it make from

11 AM 165 RM.? 135 Yoratrons

Show your work or explain how you found your ansWer. '
from I[1o B IS T hows
79 % 60 = 420 pninuIeS -

-
<} 3’+<7+?__. 1<
H-hmes every R mmuﬁ”&

<20+ ¢=52%
‘526“'4 735

Pirst T covwerted (LTOSp TNTO Mowrs and

e U ITOWEd TNAT DY o 40 08t 11a€ ZFof
M INUTES TN T HQure o OUd VMOW vy NNatS

- o CouTGe | taTed m'afz minures. Then T ain'ded

dre. _ e v ey 4 Thoul
_how many mes 1+ Vb‘la:rf'f evevy ¢ AT,
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E1E The Bushnell Park Carousel in Hartford opens in early :May and runs throngh October from

ride, and unloading people It takes about 8 minutes to complete one cycle. The actual nde
on :he carousel takes 3-— minutes,

If the carousel rotates 4 times per minute, how many rotations could it make from

11 am. to 5 em? \FO

Show your work or explain how you found your answer.

. (&0
5 TG0 47 (4

“ab

11 A.M. to 5 P.M. One cycle of the carousel consists of 3 stages: loading people, the actuial iy
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E1F The Bushnell Park Carousel in Hartford opens in early May and runs through October from
. 11 A.M. to 5 R.M. One cycle of the carousel consists of 3 stages: loading people, the actual
N rlde., and unloading people Tt takes about 8 minutes to complete one cycle. The actual ride
" on the carousel takes 33 minutes. o

i ]f the carousel rotates 4 times per minute, how many rotations could it make fmm
- 3 .
11 AM. to 5 PM.2 ;r‘z\q /% rD‘\"Cd‘\QI’\S

'Show your work or explain huw you found your answer.

N Bk ters @ 6x60= 30 @%0 +3= 45
@ux3LiE1E BIRTEFYTAF
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EIG The Bushneil Park Carousel in Hartford opens in early May and runs. lhrough October from .'
; - 11 A.M. to 5 P.M. One cycle of the carousel consists of 3 stages: loading people, the actual
__ride, and unloading peop]e It takes about 8 minutes to complete one cycle. The actual ride

on thé carousel takes 3— minutes.

~If the carousel ro(ates 4 times per mmute, how many rotatmns could it make from

11AM toSPM‘? 50"'{(\)

' Show your work or exp]am how you faund YOur answer.
x A& ﬁ\‘j\‘d\
63‘ e : pel &

v ; - o
_ oolt \{% ;:(Sﬁ)rnmur\s bl.- Yos d"‘) s 11)\\4‘

A Wy TS
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E1H The Bushnell Park Carousel in Hartford opens in early May and runs through October from
' 11 A.M. to B P.M. One cycle of the carousel consists of 3 stages: loading people, the actual

ride, and unloading people. It takes about 8 minutes to complete one cycle. The actual ride
on the carousel takes 3% minutes.

If the carousel rotates 4 times per minute, how many rotations could it make from

11 A.M. to 5 P.M.? 2;“{

Show your work or explain how you found your answer.

”w\“ﬂ YP"“"" (p L\Glrp

G X60nin = bominets 3 &= WS
=1y =y XE= 2F

‘I Conyuded JL. Kounr JG,NAQJ'A Ead  lveded By
Yoo Prim, cycte dogs Uy i IY Pz PN
= Ao # o rhlia o Open o clare  Orocu. =
DD
™
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{E11 The Bushnell Park Carousal in Hartford opens in early May and runs through October from
“11°A M:to 5 P.M; . One-cycle of the carousel consists of 3 stages Ioadmg people the actual
. ride, and unloading people It takes about 8 minutes to complete one cycle. The actual ride .

_ onthe carousel takes. 3— minutes.

. If the c'arousel rotates 4 limes per minute, how many rotations could it make from =

11AMt05PM? BY ol A

e Show your work -OF explam how you fonnd your answer.

Bl LplE) <2) (e

) P Koy L (e
Q)
sS4 (Cmsuf;»r

l r“h\n(iecL e} m a #er\ Lawicled 2.5 by 7,

Tnen o MLLIHdkaJL 2.1 dives 4 apathen

%-5'_+w’-m.a_-3 G actS 1. 4
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E1J The Bushnell Park Carousel in Hartford opens in early May and runs through October from - .
11-AM. to 5-P.M: Orie cyele of the carousel consists of 3 stages: loading people, the aélﬁal s

. -ride; and unloading people It takes about 8 minutes to complele one cycle. The actual ride .
':on the carousel takes 3— minutes,

If the carousel rotates 4 times per minute, how many rotations could it make from

.11AM.t05PM?

- Show your work or cxplam how you found your answer. L(_d(\(tb

CcD
M OﬁD

B cchA e S0 Ciokay
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E1K The Bushnell Park Carousel in Hartford opens in early May and runs through October from
11 A.M. to 5 P.M. One cycle of the carousel consists of 3 stages: loading péople, the actual
ride, and unloading people. It takes about 8 minutes to complete one cycle. The actual ride
on the carousel takes 3% minutes.

If the carousel rotates 4 times per minute, how many rotations could it make from

11 AM. to 5 P.M.? GC)

Show ydur work or explain how you found your answer.

4+25-N5

HEXC 209
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About

Accurate

Acute angle

Add

Algebraic term

All together

AM.

Angle (s)

Answer

Approximate

Arc

Area

Array

Arranged

Arrived at (as in
determined)

Arrow

At least

Average

Axis

Bar graph

Between and

Categories

Capacity

Celsius degree

Centimeter

Chance

Change (as in
money)

Chart

Chord

Circle

Circle graph

Circular face

Circumference

Classify

Clock (analog and
digital)

Closest to

Column (s)

Combine

Combination

Common attribute

Compare

Complementary
angles

Conclusion

Cone

Congruent

Coordinates

Coordinate grid

Cube

Cubic (feet,
meters, etc)

Cubic millimeter

Cup

Cylinder

Data

Day

Days of the week

Decimal

Degree (s)

Denominator

Density

Depth

Describe

Design

Determined

Diagram

Diameter

Different

Digit

Divide

Double Bar Graph

Double Line Graph

Dozen

Edge

Elapsed time

Elliptical base

Equal

Equation

Equilateral

Equilateral triangle

Equivalent

Estimate

Exactly

Explain

Exponents (positive
& Negative)

Expression

Evaluate

Event

Exponent

Face

Factor

Fahrenheit
Degrees

Fair

Farthest

Fewer, fewest

414
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Fewer than

Figure (as in

geometric figure)

Foot

Formulas

Fraction

Fractional part

Frequency table

Gallon

Geometric solid

Grams

Graph

Greatest

Grid (coordinate and
dot paper)

Group

Grouped

Growing patterns

Half

Half-Inch

Height (s)

Hexagon

Highest

Hour

How many more

How many less

Hundred (s)

Hundredth

Improper fraction

Inch

In common

Input

Integers

Intersect (ion)

Interval

Irregular

Isosceles triangle

Kilogram

Kilometer

Larger/larger than

Least

Least Likely

Length

Less

Less than

Likely

Line of best fit

Line graph

Line of symmetry

Line plot

Line segment
Liter
Locate (d)
Long, longer,
longest
Lowest
Mass
Mathematical
thinking
Maximum
Mean
Measure
Measurement
Median
Meter
Midpoint
Mile
Milligram
Milliliter
Millimeter
Minimum
Minute
Missing
Mixed number
Mode
Month
More
More than
Most
Most likely
Multiple
Multiply
Nearest
Net (flat pattern)
No less
No more than
Number fact
Number line
Number sentence
Numerator
Obtuse angle
Obtuse triangle
Octagon
Odd number
One-dimensional
Ones
Open sentence
Operation
Order of
Operations



Order (numbers)
Ordinal numbers
(first, second,

etc)
Ordered pair
Ounce
Outlier
Output
Parallel
Parallelogram
Pattern
Pentagon
Percent (% of 100)
Perfect square
Perfect cube
Perimeter
Perpendicular
Pictograph
Pint
P.M.
Point (on a graph)
Point (on a
number line)
Polygon
Possible
Pound
Predict
Probability
Product
Proportional
Pyramid
Pythagorean
Theorem

Quaderilateral

Quart

Quarter

Quotient

Radii

Radius

Range

Ratio

Reasonable

Rectangle,

rectangular

Rectangular prism

Reflection

Regular polygon

Rename

Repeating
patterns

Replaced

Represents

Rhombus

Right angle

Right trapezoid

Right triangle

Ring (draw a ring

around)

Rotation ( including
clockwise and
counterclockwise)

Rounding, rounded

Row (s)

Same/ the same as

Scale

Scalene triangle

Mathematics Grade 8 Vocabulary List (Continued)

Scatter plot

Scientific notation

Schedule

Second

Segment

Set

Shaded

Shape

Short, shorter,
shortest

Side (s)

Size

Similar

Smaller/smaller than

Solve/Solution

Sort

Sphere

Spinner

Square

Square centimeter

Square feet

Square inch

Square meter

Square number

Square unit

Square yard

Stem-and-Leaf plot

Story problem

Subtract

Sum

Surface area

Symbol

Symmetry

Table

Tall, taller, tallest

Temperature

Tens

Tenth (s)

Term (in a pattern)

Thousands

Thousandths

Three-dimensional

Ton

Transformation

Translation

Trapezoid

Trend

Triangle

Two-dimensional

Unit (using dot
paper, base ten
blocks, and
measurement)

Unreasonable

Unshaded

Value

Venn diagram

Vertical axis

Vertices

Vertex

Volume

Week

Weight

Width

X-axis

Y-axis

Yard

Year

This list, while not exhaustive, includes vocabulary with which all teachers and students should be familiar.
Bold words may be new vocabulary that should be used at this grade level.
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